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Intersection of Quadratics & Lines
(more solving quadratic equations)

Recall from last class: \ 0
6 4 -2 0

Consider y =x? +6x, and
solve for y=-8.
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Intersection of Quadratics & Lines
(more solving quadratic equations)

Recall from last class: \ r 0
6 -4 -2 0

Consider y = x* +6x, and
solve for y = x—4.
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Intersection of Quadratics & Lines
(more solving quadratic equations)

A linear-quadratic system will have zero, one, or two

solutions.
\ . \ ; \ :
¥ 4 2 0 6 4 2 0 5 4 > o
R4
4 4 ol
6 * —6" 6
..*‘5‘. o R -8
No Solution One Solution Two Solutions
(tangent line) (secant line)
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Recall: To solve an equation is to find the value(s) for
the variables that satisfy the equation
(i.e., make it true)

Given a quadratic relation, y = Ax*+ Bx+C
and a linear relation, y=mx+5b,

the solution will be the point(s) where the parabola
and straight line intersect.
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y=Ax*+Bx+C ) y=mx+b @

Solve the system of equations using the fact that y=y

y=y
Ax*+ Bx+C=mx+b,

ax2+bx+c:-0 —> Splye ‘Pbr X
(2erves)

Sub the x-values from the solution(s) into either original
relation to find the corresponding y-values.
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Ex.1 Find the points of intersection (if any) between
y=2(x-17+2 and y=x+2.

v(lt,z)

=%
2(,,.&3: = %+ !
2( )=z D)
20t 4242 =%z = (eT)xe0)
O -S4 =0 = Ax-nt
a2 =%t-2n+l
2% -{n-%x+2=0
S -%

w(x2)-d=0 T3

@-2-0=0 '

A-220 ok 29x-1=0

'1.:2! =\
‘xx%S
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Ex.2 Determine the equations of the lines that have
a slope of 2 that intersect y = x(6 —x)
(a) once
(b) twice
(c) never
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Assigned Work:

worksheet
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